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Logarithmusfunktion:   Logarithmusfunktion:   Aufgabe  13Aufgabe  13

Stellen  Sie  folgende  Funktionen  graphisch  dar  und
bestimmen  Sie  den  Definitionsbereich:

1 )  f  x  = ln sin x  1

2 )  f  x  = ln sin x  2

3 )  f  x  = ln sin2 x  1

4 )  f x  = ln sin2 x  3

5 )  f  x  = ln 3 e − x 2

 2



  

g  x  = sin x  1,        f  x  = ln g  x  = ln sin x  1

Mathematik,  Vorkurs10-1

Logarithmusfunktion:   Logarithmusfunktion:   Lösung  13­1Lösung  13­1

Abb.  L13-1:   Funktionen  g (x)  und f (x) = ln (g (x))

D  f  x  = ℝ ∖ {− 

2
 2  k } ,        k ∈ ℤ



  

g  x  = sin x  2,        f  x  = ln g  x  = ln sin x  2

Mathematik,  Vorkurs10-2

Logarithmusfunktion:   Logarithmusfunktion:   Lösung  13­2Lösung  13­2

Abb.  L13-2:   Funktionen  g (x)  und f (x) = ln (g (x))

D  f  x  = ℝ



  

g  x  = sin2 x  1,        f  x  = ln g  x  = ln sin2 x  1

Mathematik,  Vorkurs10-3

Logarithmusfunktion:   Logarithmusfunktion:   Lösung  13­3Lösung  13­3

Abb.  L13-3:   Funktionen  g (x)  und f (x) = ln (g (x))

D  f  x  = ℝ



  

Mathematik,  Vorkurs10-4

Logarithmusfunktion:   Logarithmusfunktion:   Lösung  13­4Lösung  13­4

g  x  = sin2 x  3,        f  x  = ln  g  x  = ln sin2 x  3

Abb.  L13-4:   Funktionen  g (x)  und f (x) = ln (g (x))

D  f  x  = ℝ



  

Mathematik,  Vorkurs10-5
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Abb.  L13-5:   Funktionen  g (x)  und f (x) = ln (g (x))

g  x  = 3 e −x 2

 2,        f  x  = ln g  x  = ln 3 e− x 2

 2

D  f  x  = ℝ


